Operator’s Manual

|CRAFTSMAN'|

BENCH TOP TOOL STAND
Model No. 320. 22305

A WARNING: To reduce the risk of injury, * WARRANTY
the user must read and understand the * SAFETY

Operator’s Manual before using * ASSEMBLY
this product. * DESCRIPTION
* OPERATION

A WARNING: To reduce the risk of injury,

the user must always read and follow all : glsl}:lzgl(i)l:l-ANCE
instructions in the bench top tool operating

manual before mounting the tool to

this stand.

Sears Brands Management Corporation, Hoffman Estates,
IL 60179 U.S.A.

www.craftsman.com



TABLE OF CONTENTS

Warranty Page 2
Safety Symbols Pages 4-5
Safety Instructions Page 6
Description Page 7
Assembly Pages 8-9
Operation Pages 10-13
Maintenance Page 14
Parts List Pages 15-16

CRAFTSMAN ONE YEAR FULL WARRANTY

FOR ONE YEAR from the date of purchase, this product is warranted
against any defects in material or workmanship. With proof of purchase,
defective product will be replaced free of charge.

For warranty coverage details to obtain free replacement, visit the web
site: www.craftsman.com

This warranty is void if this product is ever used while providing commercial
services or if rented to another person.

This warranty gives you specific legal rights, and you may also have other
rights which vary from state to state.

Sears Brands Management Corporation, Hoffman Estates, IL 60179

This bench top tool stand has many features for making its use more pleasant
and enjoyable. Safety, performance, and dependability have been given top
priority in the design of this product, making it easy to maintain and operate.
SAVE THESE INSTRUCTIONS!

READ ALL INSTRUCTIONS!

Page 2 22305 Manual_Revised_12-0528



AWARNING: Some dust created by power sanding, sawing, grinding, drilling
and other construction activities contains chemicals known to the state of
California to cause cancer, birth defects or other reproductive harm. Some
examples of these chemicals are:

e |ead from lead-based paints,
e  Crystalline silica from bricks and cement and other masonry products,and
e Arsenic and chromium from chemically-treated lumber.

Your risk from these exposures varies, depending on how often you do this type
of work. To reduce your exposure to these chemical: work in a well ventilated
area, and work with approved safety equipment, such as those dust masks that
are specially designed to filter out microscopic particles.

The purpose of safety symbols is to attract your attention to possible dangers.
The safety symbols and the explanations with them deserve your careful
attention and understanding. The symbol warnings do not, by themselves,
eliminate any danger. The instructions and warnings they give are no substitutes
for proper accident prevention measures.

22305 Manual_Revised_12-0528 Page 3



SAFETY SYMBOLS

AWARNING: Be sure to read and understand all safety instructions in this
Operator’s Manual, including all safety alert symbols such as “DANGER”,
“WARNING”, and “CAUTION” before using this stand. Failure to follow all
instructions listed below may result in electric shock, fire, and/or serious
personal injury.

SYMBOL SIGNAL MEANING

SAFETY ALERT SYMBOL: Indicates DANGER, WARNING, OR CAUTION; may
be used in conjunction with other symbols or pictographs.

A DANGER: Indicates a hazardous situation which, if not avoided, will result in
death or serious injury.

AWARNING: Indicates a hazardous situation which, if not avoided, could
result in death or serious injury.

A CAUTION: Indicates a hazardous situation which, if not avoided, could result
in minor or moderate injury.

Damage prevention and Information Messages

These inform the user of important information and/or instructions that could
lead to equipment or other property damage if they are not followed. Each
message is preceded by the word “NOTICE”, as in the example below:

NOTICE: Equipment and/or property damage may result if these instructions are
not followed.

AWARNING: To ensure safety and reliability, all repairs should be performed
by a qualified service technician.

A WARNING: The operation of any power tools can result in
foreign objects being thrown into your eyes, which can result
I/ ) in severe eye damage. Before beginning power tool operation,
always wear safety goggles or safety glasses with side shield
and a full face shield when needed. We recommend a Wide
Vision Safety Mask for use over eyeglasses or standard safety
glasses with side shields. Always use eye protection that is
marked to comply with ANSI Z87.1.

Page 4 22305 Manual_Revised_12-0528



SAVE THESE INSTRUCTIONS

Some of the following symbols may be used on this tool. Please study them
and learn their meaning. Proper interpretation of these symbols will allow you to
operate the tool better and more safely.

SYMBOL NAME DESIGNATION/EXPLANATION
vV Volts Voltage
A Amperes Current
Hz Hertz Frequency (cycles per second)
W Watt Power
min Minutes Time
o Alternating Current Type of current
=== Direct Current Type or a characteristic of current
Ng No Load Speed Rotational speed, at no load
@ Class Il Construction Double-insulated construction
min Per Minute Revolutions, strokes, surface speed,

orbits, etc., per minute

Do not expose to rain or use in damp

Wet Conditions Alert ;
locations.

To reduce the risk of injury, user must
Read The Operator’s Manual read and understand operator’s manual
before using this product.

Always wear safety goggles or safety
Eye Protection glasses with side shieids and a full face
shield when operating this product.

Safety Alert Precautions that involve your safety.

Failure to keep your hands away from the

No-Hands Symbol biade will result in serious personal injury.

Failure to keep your hands away from the

No-Hands Symbol biade will result in serious personal injury.

Failure to keep your hands away from the

No-Hands Symbol biade will result in serious personal injury.

Failure to keep your hands away from the

No-Hands Symbol biade will result in serious personal injury.

5> R8>0 ®

To reduce the risk of injury or damage,

Hot Surface avoid contact with any hot surface.

22305 Manual_Revised_12-0528 Page 5



SAFETY INSTRUCTIONS

GENERAL SAFETY RULES

A WARNING: Read all safety warnings and instructions. Failure to follow the
warnings and instructions may result in electric shock, fire and/or serious injury.

Save all warnings and instructions for future reference.

READ AND SAVE THESE INSTRUCTIONS

AWARNING: Do not modify this tool and/or used it for any application other
than that for which it was designed.

Do not use for scaffolding or as ladder. Do not stand or climb on the
bench top tool stand; it could fall or tip over, causing serious injury.

Do not overload. The maximum capacity for the bench top tool stand
is 300Ibs.

Do not apply an unbalanced load. This could cause the bench top tool
stand to tip over.

Store the stand properly. Do not store the bench top tool stand outdoors
or in a damp location.

Keep the work area clean, uncluttered, and well lit. Do not work on or
place the bench top tool stand legs on floor surfaces that are slippery from
sawdust, oil, water or wax.

Keep children and bystanders away while operating a power tool.
Distractions may cause you to lose control. Visitors should wear the same
safety equipment as the operator.

When using a power tool with the bench top tool stand, always follow
the safety instructions in the power tool’s Operator’s Manual.

Always wear safety glasses or eye shields when operating power tools.

Dress properly. Do not wear loose clothing or jewelry. Keep your hair,
clothing and gloves away from moving parts. Loose clothes, jewelry or long
hair can be caught in moving parts. Always wear non-slip footwear. Tie back
long hair. Roll long sleeves above the elbow.

Always use clamps or other practical ways to support the workpiece
and secure it to a stable platform. Holding the work by hand or against
your body is unstable and may lead to loss of control.

Page 6 22305 Manual_Revised_12-0528



DESCRIPTION

KNOW YOUR BENCH TOP TOOL STAND (Fig. 1)

This Bench Top Tool Stand is ideal for mounting most Craftsman and other
brands of bench top tools. It has a large base and is height adjustable for
working comfort. The strong, wide base provides stable support for the tool.
There are foot leveler pads on each foot for maximum stability. The 20-gauge
steel construction supports up to 300 Ibs. The durable, powder-coat finish
stands up to rugged use.

Fig. 1 Table Support (Long)
Table Support (Short)
Upper Leg
(\4 Lower leg
suppor‘[ (Short)
Loer leg L\
support (Long) \ %
Foot-Leveling-Pad
PRODUCT SEPCIFICATIONS
Weight 14.3 Ibs
34. in (Maximum)
32.1in
30.in
Working heights 28.in
26.in
24.1in
22. in. (Minimum)
Maximum Load Capacity 300 Ibs

22305 Manual_Revised_12-0528 Page 7



ASSEMBLY

AWARNING: If any parts are broken or missing, do not attempt to operate the
bench top tool stand until the broken or missing part is replaced. Failure to do
so could result in serious injury.

A WARNING: Do not attempt to modify this bench top tool stand or create
accessories not recommended for use with this bench top tool stand. Any such
alteration or modification is misuse and could result in a hazardous condition
leading to serious injury.

UNPACKING

This product has been shipped disassembled.

e Carefully remove all the parts and accessories from the carton. Make sure
that all items listed in the packing list are included.

¢ Inspect the parts for the bench top tool stand carefully to make sure that no
breakage or damage occurred during shipping.

¢ Do not discard the packing material until you have carefully inspected and
satisfactorily operated the bench top tool stand.

e |f any parts are damaged or missing, please return the bench top tool stand
to the place of purchase.

PACKAGE CONTENTS

Item Description Qty.
A / Long Tabletop Supports 2
B / Short Tabletop Supports 2
C Upper Leg 4
D \ Lower Leg 4

Page 8 22305 Manual_Revised_12-0528



Item Description Qty.
E Long Lower Leg Supports 2
F \ Short Lower Leg Supports 2
G @ Screw M6*10 32
H Nut M6 32
J Foot 4
K Foot-Leveling Pad 4
L Foot Screw M8*40 4
M Foot nut M8 8
N Foot Washer M8 4

22305 Manual_Revised_12-0528

Page 9



OPERATION

A WARNING: Do not use this tool for scaffolding or as a ladder. Make sure to
tighten all screws securely prior to use. Maximum capacity: 300 Ibs.

ASSEMBLING THE TABLETOP
SUPPORTS (Fig. 2)

Place the 2 Long Tabletop
Supports (A) and the 2 Short
Tabletop Supports (B) on a flat
work surface so they form

a rectangle.

ASSEMBLING THE UPPER
LEGS (Fig. 3 and Fig. 4)

Connect the 4 Upper Legs

(C) to the four corners on the
Tabletop Supports by inserting
the 16 Screws (G) through the
Tabletop Supports and then
through the 4 clearance holes
on the top of each Upper Leg.
Then attach a Nut (H) to each
screw and finger- tighten only.

NOTICE: The upper Legs must
be attached to the inside of the
Tabletop Supports.

Fig. 2

A

Fig.4

Page 10

22305 Manual_Revised_12-0528



ASSEMBLING THE LOWER
LEGS AND LOWER LEG
SUPPORTS (Fig. 5 and Fig. 6)

1. Determine the desired
height for the tabletop and
then select the desired set
of height adjustment holes
on the lower legs.

2. Attach the Lower Legs (D)
to the Upper Legs (C) using
the 16 screws (G). Before
attaching the 16 Nuts
(H), position the Lower
Supports (E and F) .

NOTICE: Finger-tighten only
until all screws and nuts are
in place. Then tighten all nuts
securely, using a wrench
and screwdriver.

Fig. 6

22305 Manual_Revised_12-0528

Page 11



ASSEMBLING THE LEVELING

DEVICE (Fig. 7 and Fig. 8)

1. Insert Foot Screw (L) into
Foot-Leveling Pad (K).

2. Thread Foot Screw (L) with

Foot-Leveling Pad (K) into
the first nut (M).

3. Place Foot Washer (N)

and the second nut (M) on

the Foot (K). Thread Foot

Screw (L) through Foot- (J),

Foot Washer (N), and the
second nut (M).

4. Place the stand in an
upright position at the

desired work height. Make

final adjustments to the
foot leveling pads and
tighten all nuts securely.

Fig. 7 \ I Ol
\
O
O
O
) Foot-Leveling
o Pads
O
O
o
Fig. 8 M
N
J
M
~ L
Q K

Page 12

22305 Manual_Revised_12-0528



USING A PLYWOOD . 5
TABLE TOP (SOLD Fig. 9 e

SEPARATELY) (Fig. 9)

Some tools, such as table
saws, require adding a wood
tabletop (not included) for
proper mounting to this tool
stand for stability. For this
purpose there are 8 holes (O)
(2 in each corner) of the 4
tabletop supports to mount
a wood tabletop (mounting
screws sold separately).

We recommend using a 24-in.
long X 18-in. wide X 3/4-in.
thick plywood tabletop

(sold separately).

1. Turn the stand upside
down on top of the
plywood table top and
mark the positions of the

8 attachment holes (2

each on tops of each Fig. 10
tabletop support).

2. Dirill holes in plywood at
the locations of the marks.

3. Place the stand in the '
upright position and place |
the plywood on top of ‘
the stand.

4. Place mounting screws (P),
sold separately, into the 8
holes in plywood
and through the
attachment holes in the
tabletop supports.

5. Insert nuts (Q), sold separately, onto screws and tighten securely.

22305 Manual_Revised_12-0528 Page 13




MANTENANCE

A WARNING: When servicing, use only identical replacement parts. Use of any
other parts may create a hazard or cause product damage.

GENERAL MAINTENANCE

Avoid using solvents when cleaning plastic parts. Most plastics are susceptible
to damage from various types of commercial solvents and may be damaged by
their use. Use clean cloths to remove dirt, dust, oil, grease, etc.

A WARNING: When servicing, use only identical replacement parts. Use of any
other parts may create a hazard or cause product damage. To ensure safety and
reliability, all repairs should be performed by a qualified service technician.

AWARNING: Keep the bench top tool stand dry, clean, and free from oil
and grease. Always use a clean cloth when cleaning. Never use brake fluids,
gasoline, petroleum based products or any strong solvent to clean the bench
top tool stand. Chemicals can damage, weaken or destroy plastic which may
result in serious personal injury.

Page 14 22305 Manual_Revised_12-0528



PARTS LIST

BENCH TOP TOOL STAND MODEL NO. 320.22305

The Model Number will be found on the Nameplate attached to the support leg
of the bench top tool stand. Always mention the Model Number when ordering
parts for this tool.

To order parts, call 1-800-469-4663.

22305 Manual_Revised_12-0528 Page 15



PARTS LIST

BENCH TOP TOOL STAND MODEL NO. 320.22305

The Model Number will be found on the Nameplate attached to the support leg
of the bench top tool stand. Always mention the Model Number when ordering
parts for this tool.

To order parts, call 1-800-469-4663.

0 amune

1 2040203013 Long Tabletop Supports 2
2 2040203014 Short Tabletop Supports 2
3 2040203015 Upper Leg 4
4 2040203016 Lower Leg 4
5 2040203017 Long Lower Leg Supports 2
6 2040203018 Short Lower Leg Supports 2
7 1010118015 Screw M6"10 32
8 1010202004 Nut M6 32
9 1020303003 Foot 4
10 1020908002 Foot-Leveling Pad 4
11 1010132006 Foot Screw M8*40 4
12 1010201005 Foot nut M8 8
13 1010301014 Foot Washer M8 4

Page 16 22305 Manual_Revised_12-0528



Manual de Operacion

|CRAFTSMAN'|

ESTANTE PARA HERRAMIENTA DE BANCO
Modelo No. 320.22305

A\ ADVERTENCIA: Para reducir el riesgo + GARANTIA

de lesiones, el usuario debe leer y « SEGURIDAD

comprender el Manual de Operacién « ENSAMBLAJE

antes de usar este producto. » DESCRIPCION

A\ ADVERTENCIA: Para reducir el riesgo ~ * OPERACION

de lesion, el usuario siempre debe leer y * MANTENIMIENTO
» ESPANOL

seguir todas las instrucciones en el manual
de operacion de la herramienta de banco
antes de montar la herramienta al estante.

Sears Brands Management Corporation, Hoffman Estates,
IL 60179 U.S.A.

www.craftsman.com



TABLA DE CONTENIDOS

Garantia Pagina 18
Simbolos de Seguridad Paginas 20-21
Instrucciones de Seguridad Pagina 22
Descripcion Pagina 23
Ensamblaje Paginas 24-25
Operacion Paginas 26-29
Mantenimiento Pagina 30
Lista de Partes Paginas 31-32

GARANTIA TOTAL DE UN ANO DE CRAFTSMAN

POR UN ANO después de la fecha de compra, este producto estéa garantizado
por cualquier defecto de materiales o fabricacion. Si cuenta con la prueba de
compra, el producto defectuoso serd reemplazado sin costo alguno.

Para detalles sobre la cobertura de garantia para obtener una
devolucion gratuita, visite la pagina web: www.craftsman.com

Esta garantia se anularg, si el producto ha sido usado mientras se proveia
servicios comerciales o si se ha rentado a otra persona.

Esta garantia le otorga derechos legales especificos. Puede que usted
tenga otros derechos que varien de un Estado a otro.

Corporacion Sears Brands Management, Hoffman Estates, IL 60179 U.S.A.

Este estante para herramienta de uso pesado tiene muchas caracteristicas
disefiadas para obtener un uso mas placentero. Al disefiar este producto, se le
ha otorgado méaxima prioridad a la seguridad, el rendimiento y la confiabilidad,
haciéndolo facil de mantener y operar.

{GUARDE ESTAS INSTRUCCIONES!

! LEA TODAS LAS INSTRUCCIONES!

Pagina 18 22305 Manual_Revisado_12-0528



AADVERTENCIA: Algunas particulas de polvo que se generan al lijar,
serruchar, afilar, o perforar, con herramientas eléctricas, asi como las
actividades de construccion, contienen quimicos que el estado de California
reconoce como causantes de cancer, nacimientos defectuosos u otros dafios
reproductivos. Algunos ejemplos de estos quimicos son:

¢  Plomo de pinturas hechas a base de plomo
e  Silice cristalizado de ladrillos y cemento y otros productos de albanileria, y
e Arsenio y cromo de la madera tratada quimicamente

El riesgo por el contacto con estos quimicos, varia dependiendo de cuan
frecuente realice este tipo de trabajo. Para reducir el contacto con estos
quimicos, trabaje en un area bien ventilada, y con equipo con seguridad
aprobada; tales como mascaras para el polvo que estén especialmente
disefiadas para filtrar las particulas microscépicas.

El proposito de los simbolos de seguridad es el de dirigir su atencién hacia los
peligros posibles.

Los simbolos de seguridad y las explicaciones que los acompafian merecen una
cuidadosa atencién y entendimiento. Los simbolos de advertencia no eliminan
los peligros por si mismos. Las instrucciones y advertencias que proveen no son
sustitutos de las medidas adecuadas de prevencion de accidentes.

22305 Manual_Revisado_12-0528 Pagina 19



SIMBOLOS DE SEGURIDAD

A ADVERTENCIA: Asegurese de leer y comprender todas las instrucciones
de seguridad en este manual de operacion, incluyendo todos los simbolos
de seguridad de alerta tales como “PELIGRO”, “ADVERTENCIA”, y
“PRECAUCION” antes de usar esta herramienta. El no seguir todas las
instrucciones que se indican a continuacion, puede ocasionar descarga
eléctrica, incendio, y/o grave lesion personal.

SIGNIFICADO DE LOS SIMBOLOS

SiMBOLO DE SEGURIDAD DE ALERTA: Indica PELIGRO, ADVERTENCIA, o
PRECAUCION; pueden ser usados junto con otros simbolos o pictogramas.

A PELIGRO: Indica una situacion peligrosa que de no ser evitada, producira la
muerte o lesion grave.

A ADVERTENCIA: Indica una situacién peligrosa que de no ser evitada, podria
producir la muerte o lesion grave.

A PRECAUCION: Indica una situacion peligrosa que de no ser evitada podria
producir lesiones menores o moderadas.

Prevencion de dafio y mensajes informativos

Le informan al usuario de informacién importante y/o instrucciones que podrian
producir dafio al equipo u otra propiedad si no se cumplen. Cada mensaje esta
precedido por la palabra “NOTA”, como se muestra en el ejemplo aqui abajo:

AVISO: Dafio al equipo u/o otra propiedad puede producirse si no se cumplen
estas instrucciones.

A ADVERTENCIA: Para asegurarse la seguridad y la confiabilidad, todas las
reparaciones deben realizarse por un técnico de servicio calificado.

A ADVERTENCIA: La operacion de cualquier herramienta
eléctrica puede causar el lanzamiento de objetos extrafios
(TR dentro de sus ojos, lo cual puede resultar en una lesion severa

del ojo. Antes de iniciar la operacion de la herramienta
eléctrica, siempre use anteojos o gafas protectoras con
proteccién lateral y una mascara protectora para la cara
cuando sea necesario. Le recomendamos una Mascara de
Seguridad de Vision Amplia para usarse sobre sus lentes o
gafas de seguridad estandar con proteccion lateral. Siempre
use proteccion a los ojos con la etiqueta de cumplimiento de
ANSI Z87.1.

Pagina 20 22305 Manual_Revisado_12-0528



GUARDE ESTAS INSTRUCCIONES

Algunos de los siguientes simbolos pueden usarse en esta herramienta. Por
favor estudielos y aprenda su significado. La interpretacion adecuada de estos
simbolos, le permitira operar mejor la herramienta y de una forma mas segura.

simBoLO NOMBRE DESIGNACION / EXPLICACION
V Voltios Voltaje
A Amperios Corriente
Hz Hercios Frecuencia (ciclos por segundo)
w Vatios Energia
min Minutos Tiempo
N Corriente alterna Tipo de corriente

Corriente continua

Tipo 0 una caracteristica de la corriente

Velocidad sin carga

Velocidad giratoria, sin carga

Construccion Clase |l

Construccidon de doble aislacién

Por minuto

Revoluciones, carreras, velocidad de
superficie, orbitas, etc., por minuto.

Alerta de condiciones
himedas

No exponga a la lluvia u otras
locaciones himedas.

Lea el manual de
operacion

Para reducir el riesgo de lesiones, el usuario
debe leer y comprender este manual de
operacion antes de usar este producto.

Proteccién ocular

Siempre use gafas o lentes de seguridad
con protecciones laterales y una proteccién
de todo el rostro cuando utilice este producto.

Alerta de seguridad

Precauciones que involucran su seguridad.

Simbolo de no tocar
con las manos

No mantener sus manos alejadas de la
sierra provocara lesiones personales graves.

Simbolo de no tocar
con las manos

No mantener sus manos alejadas de la
sierra provocara lesiones personales graves.

Simbolo de no tocar
con las manos

No mantener sus manos alejadas de la
sierra provocara lesiones personales graves.

Simbolo de no tocar
con las manos

No mantener sus manos alejadas de la
sierra provocara lesiones personales graves.

Superficie caliente

R ® 660D : Pk

Para reducir el riesgo de lesiones o dafios,
evite el contacto con cualquier superficie caliente.

22305 Manual_Revisado_12-0528

Pagina 21




INSTRUCCIONES DE SEGURIDAD

ADVERTENCIAS GENERALES DE SEGURIDAD

A ADVERTENCIA: lea todas las advertencias de seguridad e
instrucciones. De no seguir todas las advertencias e instrucciones, puede
ocasionar descarga eléctrica, incendio y/o lesion grave.

Guarde todas las advertencias e instrucciones para futura referencia.

LEA 'Y GUARDE ESTAS INSTRUCCIONES

AADVERTENCIA: No modifique y/o use este estante para una aplicacion para
la cual no haya sido disefiado.

¢ No use como andamiaje o como escalera. No se pare o suba al estante para
herramienta de banco; puede caerse o voltearse y causar una lesion seria.

¢ No sobrecargue. La capacidad maxima del estante para herramienta de
banco es de 300 libras.

¢ No aplique una carga desbalanceada. Esto podria causar que el estante
para la herramienta de banco se vuelque.

¢ Guarde el estante adecuadamente. No guarde el estante para herramienta
de banco a la intemperie o en una ubicacion himeda.

¢ Mantenga el area de trabajo limpia, ordenada y bien iluminada. No
coloque las patas del estante para herramienta de banco sobre superficies
del piso que sean resbalosas debido al aserrin, aceite, agua o cera.

¢ Mantenga a los nifios y visitantes lejos mientras opera una herramienta
eléctrica. Las distracciones pueden causar que pierde el control. Los
visitantes deben usar el mismo equipo de seguridad que el operario.

e Cuando use una herramienta eléctrica con el estante para herramienta
de banco, siempre siga las instrucciones de seguridad en el manual de
operacion de la herramienta eléctrica.

e Siempre use gafas de seguridad o protectores de ojos cuando opere
herramientas eléctricas.

¢ Vistase adecuadamente. No use prendas de vestir holgadas o joyeria.
Mantenga su cabello, prendas de vestir y guantes alejados de partes
moviles. Las prendas de vestir holgadas, joyeria o cabello largo pueden
quedar atrapados en la partes moviles. Siempre use calzado anti deslizante.
Ate el cabello largo. Remangue las mangas largas por encima del codo.

e Siempre use una abrazadera u otra forma practica de soportar la pieza
de trabajo y asegurarla a una plataforma estable. Sujetar la pieza de
trabajo con la mano o hacia su cuerpo es inestable y puede generar la
pérdida de control.

Pagina 22 22305 Manual_Revisado_12-0528



DESCRIPCION

CONOZCA SU ESTANTE PARA HERRAMIENTA DE BANCO (figura 1)

Este Estante para Herramienta de banco es ideal para montar la mayoria de
herramientas de banco Craftsman y otras marcas. Posee una base larga, y su
altura es ajustable para trabajar comodamente. La fuerte y amplia base provee
soporte estable para la herramienta. Se provee almohadillas para nivelar pies en
cada pie para mayor estabilidad. La construccion de acero calibre 20 (20-gauge)
soporta hasta 300 libras. El acabado duradero con capa pulverizada soporta el
Uso severo.

Fig. 1 Soporte para Mesa (Largo)

Soporte para Mesa (Corto)

Pata Superior /
Soporte para Pata

Inferior (corto)

Soporte para Pata
Inferior (largo)

Almohadilla para
nivelar pie

ESPECIFICACIONES DEL PRODUCTO
Peso 14.3 libras

34 pulgadas (maximo)

32 pulgadas

30 pulgadas

Altura de trabajo 28 pulgadas

26 pulgadas

24 pulgadas

22 pulgadas (minimo)

Capacidad maxima de carga 300 libras

22305 Manual_Revisado_12-0528 Pagina 23



ENSAMBLAJE

AADVERTENCIA: Si alguna de las piezas se ha perdido o quebrado, no
intente operar el estante para herramienta de banco hasta que la parte quebrada
o perdida sea reemplazada. Si no sigue esta indicacion puede producirse una
lesién seria.

A ADVERTENCIA: No intente modificar este estante para herramienta de
banco, ni crear accesorios no recomendables para el uso con este estante para
herramientas de banco. Cualquier alteracion o modificacion se considera mal
uso y podria producir una condicién peligrosa que genere una lesion seria.

DESEMPAQUE
Este producto se ha transportado desarmado.

e Retire cuidadosamente todas las partes y accesorios de la caja.
Asegurese de que todos los articulos que se enumeran en la lista de
empaque estén incluidos.

¢ Inspeccione todas las partes del estante para herramienta de banco para
asegurarse de que no se han dafado o quebrado durante el transporte.

¢ No deseche el material de empaque hasta que haya inspeccionado
cuidadosamente y operado el estante de manera satisfactoria.

e  Sialguna parte hace falta o esta dafiada, por favor devuelva el estante al
lugar de compra.

CONTENIDO DEL PAQUETE Y ARTICULOS DE FERRETERIA

Articulo Descripcion Cantidad

A Soportes largos para tablero 2

Soportes cortos para tablero 2

Pata superior 4

Pagina 24 22305 Manual_Revisado_12-0528



Articulo Descripcion Cantidad
D \ Pata inferior 4
E Soportes largos para pata 5

inferior
F Soportes cortos para pata 5
inferior
G @ Tornillo M6*10 32
H Tuerca M6 32
J Pie 4
K Almohadilla para nivelar pie 4
L ~ Tornillo del pie M8*40 4
M Q[ Tuerca del pie M8 8
N @ Arandela del pie M8 4

22305 Manual_Revisado_12-0528

Pagina 25



OPERACION

A ADVERTENCIA: No use este estante como andamiaje o como escalera.

Asegurese de ajustar todos los tornillos firmemente antes del uso. La capacidad

maxima es 300 libras. )
Fig. 2

A

ENSAMBLANDO LOS
SOPORTES PARA TABLERO
(figura 2)

Cologue los 2 Soportes Largos
para Tablero (A) y los dos
Soportes Cortos para Tablero
(B) sobre una superficie plana de
modo que formen un rectangulo.

ENSAMBLANDO LAS
PATAS SUPERIORES
(figura 3y figura 4)

Conecte las 4 Patas Superiores
(E) a las cuatro esquinas en

los Soportes para Tablero
introduciendo los 16 tornillos (G)
a través de los Soportes para
Tablero y luego a través de los 4
agujeros de despeje en la parte
superior de cada Pata Superior.

Luego fije una Tuerca (H) . -
a cada tomillo y ajustelos
solamente con los dedos.

AVISO: Las Patas superiores Fig.4
deben fijarse a la parte interior
de los Soportes para Tablero.

Pagina 26 22305 Manual_Revisado_12-0528



ENSAMBLANDO LAS
PATAS INFERIORES Y
LOS SOPORTES PARA
PATAS INFERIORES
(figura 5 y figura 6)

1. Determine la altura
deseada para el tablero
y luego elija la posicion
deseada de altura de los
agujeros de ajuste en las
patas inferiores.

2. Fije las Patas Inferiores (D)
a las Patas Superiores (C)

usando los 16 tornillos (G).

Antes de fijar las 16 tuercas
(H), cologue los Soportes
Inferiores (Ey F).

AVISO: Ajuste solamente con
los dedos hasta que todos
los tornillos y tuercas estén
en su lugar. Luego ajuste
todas las tuercas firmemente,
usando una llave inglesa y un
desarmador/destornillador.

Fig. 6

22305 Manual_Revisado_12-0528

Pagina 27




ENSAMBLANDO EL
APARATO PARA NIVELAR
(figuras 7 y figura 8)

1.

Introduzca el Tornillo de
Pie (L) en la almohadilla
para Nivelar Pie (K).

Ensarte Tornillo del Pie (L)
con la almohadilla para
Nivelar Pie (K) en la primera
tuerca (N).

Coloque la Arandela

del Pie (N) y la segunda
tuerca (M) en el pie (K).
Ensarte el Tornillo de Pie
(L) a través del Pie (J),
Arandela del Pie (N), y la
segunda tuerca (M).

Coloque el estante en
posicion parada a la altura
del trabajo deseada.
Realice ajustes finales a las
almohadillas para nivelar
los pies y ajuste todas las
tuercas firmemente.

Fig. 7 o o Ol
\\
o 19
O |0
O o

) Almohadilla para
o nivelar pies
0
O
o 0
o
Fig. 8
< M
N
J
M
~ L
Q K

Pagina 28

22305 Manual_Revisado_12-0528



USANDO UN TABLERO PARA
MADERA CONTRACHAPADA
(SE VENDE POR SEPARADO)
(figura 9)

Algunas herramientas como las
sierras ingletadoras, requieren
que se afnada un tablero de
madera (no se incluye) para un
montaje adecuado a este estante
para herramienta, para obtener
mayor estabilidad. Con este
proposito existen 8 agujeros
(O)@2 en cada esquina) en los

4 soportes para tablero para
montar un tablero de madera (los
tornillos para montaje se vende
por separado).

Le recomendamos usar

un tablero de madera
contrachapada de 24 pulgadas
de largo X 18 pulgadas de
ancho X 3/4 de pulgada de
grosor (se vende por separado).

1. Gire el estante boca
abajo encima del tablero
de madera y marque
las posiciones de los 8
agujeros (2 en cada parte
superior de cada soporte
para tablero).

2. Perfore agujeros en la
madera contrachapada
donde se encuentran
las marcas.

3. Coloque el estante en la

posicion parada y coloque la madera encima del estante.

4. Coloque los tornillos para montaje (P) que se venden por separado, en los
ocho agujeros en la madera contrachapada y a través de los agujeros en los

soportes para el tablero.

Fig. 9

Fig. 10

5. Introduzca las tuercas (Q) que se vende por separado, en los tornillos y

ajuste firmemente.

22305 Manual_Revisado_12-0528

Pagina 29




MANTENIMIENTO

A ADVERTENCIA: Cuando repare, use solamente partes idénticas de reemplazo.
El uso de cualquier otra parte puede crear un peligro o causar dario al producto.

MANTENIMIENTO GENERAL

Evite el uso de solventes cuando limpie partes de plastico. La mayoria de plasticos
son susceptibles al dafio por varios tipos de solventes comerciales y pueden
dafarse si se usan. Use telas limpias para sacar suciedad, polvo, aceite, grasas, etc.

A ADVERTENCIA: Cuando repare, use solamente partes idénticas de reemplazo.
El uso de cualquier otra parte puede crear un peligro o causar dario al producto.
Para asegurar la seguridad y confiabilidad, todas las reparaciones deben ser
realizadas por un técnico de servicio calificado.

A ADVERTENCIA: Mantenga el estante para herramienta de banco seco, limpio,
y libre de aceite y grasa. Siempre use una tela limpia para limpiar. Nunca use liquido
para frenos, gasolina, productos a base de petroleo, o cualquier solvente fuerte para
limpiar el estante. Los quimicos pueden dafiar, debilitar o destruir plastico lo cual
puede resultar en lesion grave personal.

Pagina 30 22305 Manual_Revisado_12-0528



LISTA DE PARTES

ESTANTE PARA HERRAMIENTA DE BANCO MODELO NO 320.22305

El Numero de Modelo se encuentra en la placa de registro adjunta al marco del
estante. Siempre mencione el Numero de Modelo cuando ordene partes para
esta herramienta.

Para ordenar partes llame al 1-800-469-4663.

22305 Manual_Revisado_12-0528 Pagina 31



LISTA DE PARTES

ESTANTE PARA HERRAMIENTA DE BANCO MODELO NO 320.22305

El Numero de Modelo se encuentra en la placa de registro adjunta al marco del
estante. Siempre mencione el Numero de Modelo cuando ordene partes para
esta herramienta.

Para ordenar partes llame al 1-800-469-4663.

© NeacPan N R

Soportes Largos para Tablero

1 2040203013 2
2 2040203014 Soportes Cortos para Tablero 2
3 2040203015 Pata Superior 4
4 2040203016 Pata Inferior 4
5 2040203017 Soportes Largos para Pata Inferior 2
6 2040203018 Soportes Cortos para Pata Inferior 2
7 1010118015 Tornillo M6*10 32
8 1010202004 Tuerca M6 32
9 1020303003 Pie 4
10 1020908002 Almohadilla para Nivelar Pie 4
11 1010132006 Tornillo del Pie M8*40 4
12 1010201005 Tuerca del Pie M8 8
13 1010301014 Arandela del Pie M8 4

Pagina 32

22305 Manual_Revisado_12-0528




